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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D orE, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 55 questions, Part — A contains 40 questions of
one mark each and Part — B contains 15 questions oftwo marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
you may leave the examination hall.
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Answerall questions. Each question carries 1 mark. (1x40=40)

DR, BIRVT GUZ0R. T3 BT 20w 208N,

1. Which of the following is not a primary pollutant ?

a) SO, - b) Volcanic ash

c) O; ' d) CO,

83 BINSIYNYY, 0IRYT0 &0,50BN TOFT IROZE, 50E0ENE) ?

a) SO, b) 2%9,&e30800% e
c) Os d) CO,

2. The earth originated

a) 4.6 billion yrs. b) 8.5 billion yrs.

c) 2.6 billion yrs. d) 1.3 billion yrs.

PRDOIN HFTIVTY,

a) 4.6 VOO TIRF NS 083 b) 8.5 WA BRFNY &0
C) 2.6 VOO SRF NS 8083 s d) 1.3 WO TRENY 80T

3. The first formed photosynthetic organisms were

a) Algae b) Cyanobacteria
c) Bryophytes d) Plants

B ER0B R 3030000083 B BATO 236

a) 8¢ b) FSeeean 8003
€) wodRealEs d) RZnd

SPACE FOR ROUGH WORK

i !
:
@
|
E
|
|
i
' B




SN - 714 s A A ;

4. The scientifically suggested reason for the extinction of dinosaurs is [ ' i
a) volcanic eruptions -
b) massive storm
c) massive asteroid hit

d) massive flood

BRRRT TS RIS BN B 08 0o
a) 2,PBND0 BRCBABT |

b) 2303083 oY

¢) ti030dtmE emBmane tRR0 SHPAR)

d) GobosomBHmE

5. Soap does not work well with

a) hard water b) light water

c) heavy water d) soft water
AR B3 FFNT BN TEABS ROOLITON FI0E QB &R 9
a) NERO Jed b) @rodzos Jedd
C) POTT Jed d) S0z Jedd

6. Landsat program began in

a) 1972 'b) 2003
c) 1982 d) 1992
R0 AR TR0 @)doz;}mcdc:%

a) 1972 b) 2003
c) 1982 d) 1992

SPACE FOR ROUGH WORK




L 5 SN - 714

7. Tojoin the internet, the computer has to be connected to a
a) internet architecture board
b) internet society
c) internet service provider

d) none of the mentioned

20807250 oW § FOTEF BROTL REFBOSI0ZTI) 84 F4NS CIRHTE
BReRREENIZE ? |

a) QoD S 3 EITO” WReE'E
b) RoLIT N RRES

C) OO R RIFAT FRFEC”
d) 83 BoedS CINYTO Y.

8. Internet works on
a) Packet switching
b) Circuit switching
c) Both a) and b)
d) None of the mentioned
€9030° 2300 HOWBE ) TOODF VR LR T0
a) TBes’ A 3o’
b) RBRF e R 230N
c) a) &) b) @R
d) 38 BoedT CINRT &)
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9. Drugis
a) produced by endocrine glands
b) produced by exocrine glands
c) are secreted through pituitary gland
d) externally administered chemical substances
By |
a) oA B NOPONT LITTICIRNIZE
b) R €8 3 i0RENE BuBTIoIRRITS
C) 23830 ROPOAOT BT ARSI
d) WREY SIORRT BRI FeIon0s

10. Lakes and forests are best classified as examples of
a) artificial ecosystem
%atural ecosystem
c¢) natural biosphere
d) artificial biosphere
31 89N cuZad> BNF e80E0E, ASRET TR TRNED FeaBe3
o) qeoRa Y
b) SRNFITORS T[S
c) FANFE WemmwoDd
d) @8 temeod
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11. Copernicus is well known for his contribution in the field of
a) Biology b) Physics
c) Mathematics d) Social Science
BRETIF B B 33T DR BRRONCL0TN BATIONTI.
a) eI, b) PzRR,
c) ness d) R R
| 12. The discovery of ‘Cape of Good Hope’ goeé to
| a) Columbus . b) Vespucci
¢) Vagellan d) Bartolomeu Dias
‘ ‘$e gt RO BREET 82003 e 8
f_ a) 3pwowws® ~ b) SR
*i' | c) Inens* d) e F ey BodR®
| 13. Nanoparticles of which substance were found on the surface of the sword of
Tipu Sultan ?
a) Gold b) Lead
| c) Carbon d) Silicon
| 8559, ROURTS DBE Soeenntd, Tordtos S,BRe8E0 CIRT BRIIOTING ?
' a) w83 b) aex
C) QOO d) A%
14. The size of nanoparticles is between nm.
| a) 100 to 1000 b) 0.1t0 10
| c) 1t0100 d)"0.01to 1
| TR ReBeNY T nm A
' a) 100 20z 1000 b) 0.1 0w 10
3 c) 1 505100_ d) 0.01 dow1
SPACE FOR ROUGH WORK
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15. Main branch of mathematics is

16.

17.

- 714

a) Algebra b) Geometry
c) Statistics _d) Abacus
edas 002, Z0a3

a) BOTR®, b) 230083
C) ROIR, d) s

The only metal in liquid state is

a) iron b) mercury
c) calcium /d) magnesium
B SRBEATIS 203 wotdd RCBITT

a) W b) @0

¢) oo d) ﬁa@lee‘mbo
Stainless steel is so called because of its

a) High strength

b) High corrosion resistance
c) High ductility

d) Brittleness :
R OR 20 50 B3 FoTEE N, B BROV0T FEORLRNIBT,
a) 3TN

b) 28 EROINNFODTY SBLROIVE BTN
C) S08CINN RRTRF NI s

d) Rowsn PROMD rbsaﬁ'%h

SPACE FOR ROUGH WORK
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18. Layer of atmosphere in which Ozone layer lies is

a) Exosphere b) Mesosphere
c) Troposphere d)-Stratosphere
2:2200" BT WANIOI FZVRTEID B3 BEORAT

a) BREACIT® b) QoRReRCIT®
c) Reaperndoo’ d) ), Epeaoddo’

19. One of the best solutions to get rid of non biodegradable wastes is

a) Burying b) Burning
¢) Recycling d) Dumping
| HDgmon 8RToT T 000 B0EBROTLD KT UBRD BIRNE
‘ a) BRFODE b) RoEORE
‘ c) o2 d) ROFZZC0T WRRDNE
20. Which state irrigates largest percentage of land ?
| a) Haryana by Uttar Pradesh
| ¢) Maharashtra d) Punjab
| B RDOOD) ReTITON LITBNT To%
| a) Boosnee b) ev3ones
{ C) ST, d) Bozsoey
!. 21. Compound microscope has lens/lenses.
1 a) 1 b) 2
c) 3 d)'4
TOTOOT® BB, R TIRRC BRRTNIR) B0,
| a) 1 b) 2
| ¢} 3 d) 4

SPACE FOR ROUGH WORK
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22. The resolving power of unaided human eye is

23.

24,

25.

- BRNE) oo OS8RV ST L0nedS 33

a) 100 um ) 1000 pm
c) 10um d 1um

a) 100 um b) 1000 um
c) 10 um d) 1um

Photograph which is taken from microscope is known as

a) macrograph b) monograph
c) micrograph d) pictograph
AT, B0 31 mmwgﬁ;g 33 068 BN

a) BRER T b) Seednerp®
c) BIemF d) aBRemF®

Process in which two light nuclei combine to form a heavy nucleus is called
a) fusion reaction b) fission reaction
c) radioactivity d) transmutation

QTR R£Q, WO LN BoodRexaSneomd womd (RTmE TOBRETI) SUBIOR
Tgob '

a) Roodpews 303 b) DTS o

C) FORIED D3TeD d) TORE0 IRTFRONE

Genetic improvements in which two crops form the basis of the Green
Revolution

a) Corn andrice b) Wheat and corn

¢) Wheat and rice d) Wheat and sorghum
ROGRTRRAOR 03EE QTR BN BT 52,0800 SFBHOIPAT ?

a) 03 wdned 3 e b) Rred =2 208 elned
C) Reed 32 e d) r{ra@ 03 ey
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26.

2r.

28.

Hard water contains the salts of

a) Aluminium b) Carbon
c) Calcium | d) Iron
RER B 2SR RORTIS ©TeaNTd

a) OO0 b) oo
c) =,9e%0 ' - d) 3p

INTELSAT IV telecommunication satellite has a capacity of handling

a) 1TV channel

b) 2TV channels

c¢) 3TV channels

d) 4 TV channels

INTELSAT IV 50 0s8F e0an@) 8 NS o mesay F S D domed B5mancs ?
a) 1TV w3

b) 2 TV w3ernsd

c) 3 TV a3 nsd

d) 4 TV w3e°nsd

Headquarters of ISRO is situated

a) Chandipur bot ~ b) Chandigarh
c) Bengaluru e i d) Chennai
ISRO 303, Fe3ed ADBR |

a) WBoreo* :  b) BoRenz®
c) WYongdedd - d)ud,

SPACE FOR ROUGH WORK
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29,

30.

31,

Satish Dhawan space centre is situated in

_a) Bengaluru b) Ahamedabad
c) Chennai d) Sriharikota
R&eT* TR Bear Bow0® QTR
a) Wonsndd b) emRomoRe®
c) ¥, d) 3emodRe

Remote sensing includes gathering of
a) Images
b) Changes

5.)‘ Movements
' d) Sounds

DB ReEs® RO B3 FENSTR RO 2RIBT
a) 23ZnH

b) w@enmsnsd

c) Bodnd

d) Bursh

Which is the base of scientific development ?

- a) Physics b) Chemistry

' ¢) Engineering d) Mathematics

FEPe BIBerint Zano cIPT I
a) {3z, b) TRRCIRToR,
C) OAOIDONE d) neds

SPACE FOR ROUGH WORK




i 33. Laser is the short form of

17— 1111 A3 SN - 714
i
l 32. Principle of laser is
‘ a) Spontaneous absorption b) Simulated emission

| ‘ ¢) Induced emission d) Both b) and c)

1 | SRS 3,

1 ! a) AVNFS &eTORT b) envdezds DRwFS

J c) Sedea DRRES d) b) 3533 ¢) B

| a) light absorption stimulated emission of radiation

| b) light amplication by stimulated emission of radiation
¢) light amplication stimulated emission of rays

d) light adsorption stimulated rays

| SeR0” SOP)T BB ROET TRD

| a) SeR0° LRFF D ARNSET ORI P BegodeRD

. I S SRS

b) ¢ eoqBema 1 AR SetE DRI’ B Be@odoemn®
l C) G eofema” ARNSeHE DR’ & TeA’
d) & BmmF I R0 SetiE’ Sea®

j 34, OFC stands for .
l a) Optical Fibre Cables b) Optic Forced Cables

: c) Optical Forged Cables d) Optical Fibre Can
“ BT R DOTS
“ a) BB FPO© erer b) ©&F° Fpeo'r* Ferwe?,
!, | C) SRB* Fpe's e’ d) S5 Fo® T
f
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35. The most energy efficient and environment safe source of light is

a) CFL b) LCD
¢y LED d) LPG

53,03 BormRD %) BORG RTFADRY HA0HT HHE Faee
a) AP b) QA&

C) 'R d) Qe Q2

36. The nearly perfect source of energy is
_b) natural gas

a) coal

c) petrol d) tar

93,08 HOFIROTOTRT JOD WL

a) 39T b) SANFE QO
c) Sednee® d) &o°

37. DNA is not a genetic material in

a) Human b) Virus

c) Plant d) Animal
B SO B B9NE CIRITIY, 3o RN, 5,

a) b) o=

c) A% d) s

38. DNA stands for
a) Disaccharide Nucleic Acid

c) Diribose Nuclear Acid

B (DNA) 203
a) Disachharide Nucleic Acid

c) Diribose Nuclear Acid

b) Diphenyl Nucleic Acid
d) Deoxyribose Nucleic Acid

b) Diphenyl Nucleic Acid
d) Deoxyribose Nucleic Acid

SPACE FOR ROUGH WORK
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39. The objectives of experiments include
a) testing hypothesis
b) for supporting and negating theory
c) for gathering about natural phenomenon
d) all the above
Todeenng LEeB)
a) 303 ATVOTH) TOLFRITYTONT
b) wom 383 wowesn B QRPOIVTE),N
¢) FANFEIRRIRIBROREERN
d) 85 BedT e,

40. The detailed report of the whole work prepared in a standard format is called
a) research
b) presentation
c) thesis
d) scientific paper
20T BRI, DeB0), ATHBRT peor SR DIR[0 word
a) o3RS

c) T[wog
d) o wSE

SPACE FOR ROUGH WORK
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PART-B
QN - W
All questions are compulsory. (2x15=30)
QR BIN 0.

41. Match the correct pair.

42.

C) ABIO) B VN 00T, d) B0edT BTPTR WY,

A) Indian nuclear programme 1. M. S. Swaminathan-
B) Green revolution ' 2. Vasant Gowarikar
C) Indian monsoon model 3. HomiJ Bhabha
D) White revolution 4. Kurien Varghese
a) A-2, B-3, C-4, D-1 b) A-4, B-2, C-1, D-3
c) A-1,B-3,C-4,D-2 d) A-3,B-1,C-2,D-4
R003RT zﬁme&cﬁo&l TS A.
A) 23908603 TR0 03Ree 1. 0. 3R, W) QOGS
B) ®05,08 2. RIOT® NPDEIT
C) o08e03 B0oMoTd &INTO 3. TR 2. WO
D) 33m08 4. RO SnerA*
a) A-2, B-3, C-4, D1 b) A-4,B-2,C-1,D-3
c) A-1,B-3,C-4,D-2 d) A-3,B-1,C-2,D-4
and are two major discoveries of 15t century which
led to expansion of white colonies outside Europe.
a) Mariners compass and telescope b) Spinning machine and telescope
¢) Gun powder and steam engine d) None of the above
15 Je TZRRTT TR T &S CREBMTT R v O30T AT

BR0R B90s BB ISR 50T
a) TR0 DB FoR TRUTIFEeE  b) Reeos abos R RRTEIE Koog

SPACE FOR ROUGH WORK
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43. Match the correct pair.
Diseases
A) Typhoid
B) Tuberculosis
C) AIDS
D) Pneumonia
a) A-4,B-3,C-2, D-1
b) A-3, B-2, C-4, D-1
c) A-2,B-4,C-1,D-3
d) A-1,B-3,C-4,D-2
ROCIRT WRERON) MOSFA.
FooSnshd
A) TR e ®0
B) 8o deent
_ C) ow
'1 D) 278030 evdodnd
a) A-4,B-3,C-2, D-1
b) A-3, B-2, C-4, D-1
'l c) A-2,B-4,C-1,D-3
I d) A-1,B-3,C-4,D-2

iz

- e L
L. SN = e Sl

a) chemical energy
electricity

1 l a) SmORE By
| 9 SRR

A7- SN - 714

Causes
{;v" Pneumococcus
2. HIV
\,.«4:&Myoobacterium
4. Salmonella typhi

Fosearisd
1 dr%ﬁ.raeiraefx‘
2. VR
3. ﬁgsﬁracw%%eaodoo
4. BRI Y

E | 44. Photovoltaic energy is the conversion of sunlight into

b) biogas
d) geothermal energy

RBRODFS BB TP etdnesdpeRondE® J3asnn aimedrd:@d%gs 3N Bedeoonogs

b) ¥§8 eReR B8
d) BodeeFRore” 38
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45.

46.

47.

b) house for individual

The outermost layer of the earth is

a) Magma b) Mantle

¢) Crust ' d) Solid iron core
AToAove) 98,08 BRCNT Boesty)

a) SR b) Bmoe3e*

c) 3x°, d) T’ 0o dre®
LED stands for

a) Laser Emitting Diode by Light Emitting Diode
¢) Light Emitting Device d) Laser Emitting Device
LED 2033

a) Laser Emitting Diode b) Light Emitting Diode

c) Light Emitting Device d) Laser Emitting Device

Pradhan Mantri Awaas Yojana of Government of India, is meant for

a) child development

c) skill development

d) none of the above - :

108 X5oF OB FSR008 eamar 0deeesSeso 81 S9NS cinmE Dadpessotnng ?
a) <gd eszpdg}&g)

b) Héadeey monosIRR 30N

c) 3, eﬂzp%c%

d) 8 B3 Q‘ba@dm 90

SPACE FOR ROUGH WORK
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48. Which of the following States in India ranks first in the installation of wind power ?

a) Gujarat

b) Andhra Pradesh

¢) Maharashtra

d)  Tamil Nadu

TR J3oD» @&m@&’ﬁ TRRITE), OO B1 FIN I Tty ) BRTBORBODTINGS 7
a) TOwRoIT

b) @opEdes

- ©) ROTOTF,

49.

d) 30soTow

The observed increase in the average temperature of the air near earths surface
and oceans in recent decades

a) environment change
b) global warming
c) healthchange

d) none of these

B8R TBIRE. HRN0D Fo%) BT O T TTRRIE KO B
FOOED |

a) ToORC BB

b) enegTTRRS By

C) TR, WEHRIH

d) 83 ST CIPRTP )

SPACE FOR ROUGH WORK
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50. Lig/n'te, bituminous, anthracite is the variety of
a)

ybﬂra! gas ‘ /_b{wind
/

©) petrol dy. coal
Or},&5°, WEDDOTRT, SOFRF T 0w VBT YRROT BT
a) %;dnré L9 b) mo¢
c) Bedpee® d) 39zen
51. BTU is measurement of
a) Volume b) Temperature
c) Area d) Pressure
BTU 200%b 9538 699803 sXnazeonds
a) ™3 b) evemos
C) QYeroF d) w2a@

~ 52. Non conventional energy sources are
/a)’biomass, solar, wind
" b) nuclear, coal, petrol
c) thermal, nuclear, diesel
" d) allthe above
EIROTTIDONE B30I TN
a) 8 BB 008, RROHF, MY
b) o=, 39Ten, Hedneer
c) emaga DORNED, BRSO
d) B0edS &)

SPACE FOR ROUGH WORK
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53. Name the MOEFCC campaign for land use science or Forest Plus.
a) Good Wood b) Wood Good
¢) Wood is Good d) Good Earth
MOEFCC 5002230530320 3§23 0% 130 w98 303) 508 BBFTN WHRRE Doz
a) nE* JE° b) Jw® noz*
C) RT° BI%° MOE° d) noE® en'F

i 54. Union Environment ministry approved projects for climate change in which

States ?
o a) Rajasthan b) Guijarat
: : c¢) Manipur d) Both a) and b)
7 l TORS t.BRUE RITOADHR) BIRRE WRBBOID CeESELR) 31 B8NS 03
£ 9 DO T)N IRIBREDIT ?
& ‘4 a) OOwA® b) oo
5 i c) B33 d) a) & b) 20ER

o 55. The process of introduction of weakened pathogen into a human body is called
a) vaccination

b) immunization

c) attenuation

d) none of the above

TORF© BeEE0NTR) BORDFE 3e8, B0 T,03030 83 Oed VeI,

a) WIZeRS

b) a=RFAeR*

c) ey odema®

d) Soed cInRTe &)
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